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    1 PRINTŢ ēĔāĒĔ ĉĎ ĥ ēąăďĎĄēŢ
    2 PRINT

    3 PRINT

    4 PRINT

    5 PRINTŢ ĔĈĉē ĉē ĔĈą ĕēĕāČ ēĔďĒęŢ
    6 PRINTŢ ďĆ ęďĕ āĎĄ ēďčą čďĎēĔąĒįėĈĉăĈŢ
    7 PRINTŢ ĉē ćďĉĎć Ĕď ĂāēĈ ęďĕĒ ĈąāĄ ĉĎ ĕĎČąēēŢ
    8 PRINTŢ ęďĕ ĈĉĔ ĔĈą ċąę ĒąđĕĉĒąĄ ġĠ ĔĉčąēŢ
    9 FOR Ċ=Ġ TO ĥĠĠĠŏNEXT Ċ
   10 Ę=ĢĠ
   15 Ď=Ĩ
   19 FOR Ċ=Ġ TO ĨĠ STEP ĤĠŏPOKE ĥģĨĢġ+ĊįĥĩŏNEXT 
   30 PRINTŢǆŢ
   32 IF Ę=ĤĢĠ THEN GOTO ģĢĠĠ
   35 LET ĒŤ=CHR$(INT(ĩĦ*RND(ġũũũ
   36 PRINTTAB(ĢģũĬŢęďĕĒ ċąę ĉē ŢĬĒŤ
   37 PRINT

   38 Ď=Ď-ġ
   39 PRINTTAB(ĢģũĬŢēđĉććČąē ĆĉĒąĄŢĬā
   40 LET ē=Ġ
   41 POKE ĥģĨĦĢįġĦŏPOKE ĥģĨĦģįĢġŏPOKE ĥģĨĦĤįĢ
   42 FOR Ċ=Ġ TO ĢŏPOKE ĥģĨĢĢ+ĊįĥĢŏNEXT 
   43 FOR Ċ=Ġ TO ĢŏPOKE ĥģĩĠĢ+ĊįġġĦŏNEXT 
   44 FOR Ċ=Ġ TO ĨĠ STEP ĤĠŏPOKE ĥģĨĢġ+ĊįĥĩŏNEXT 
   45 FOR Ċ=Ġ TO ĨĠ STEP ĤĠŏPOKE ĥģĨĢĥ+ĊįġĢģŏNEXT 
   46 č=INT(ĤĠĠ*RND(ġũũ
   47 POKE ĥģĨģĥ-čįġĩġŏPOKE ĥģġģĦ+čįĢġĩ
   50 POKE ĥģģģĥ+čįġħħŏPOKE ĥģģģĦ+čįġħĨ
   60 POKE ĥģģħĥ+čįġĨġŏPOKE ĥģģħĦ+čįġĨĢ
   65 FOR Č=Ġ TO ĤĠĠ STEP ĤĠŏPOKE ĥģģĤħ+ČįĦġŏPOKE ĥģģĤĩ+ČįġġģŏNEXT Č
  322 Ď=Ď+ġ
  990 ęġ=ġġĤŏęĢ=ġġĢŏęģ=ġġĥ
 1000 POKE ĥģĢĤĨ+ĘįĢĠĦ
 1010 POKE ĥģĢĨĨ+ĘįĦĨ
 1020 POKE ĥģģĢĨ+ĘįĢĤģ
 1030 POKE ĥģĢģĠ+ĘįġĨĨ
 1040 POKE ĥģĢĦĩ+Ęįęġ
 1050 POKE ĥģĢħĠ+ĘįęĢ
 1060 POKE ĥģĢħġ+Ęįęģ
 1070 POKE ĥģģĠĨ+ĘįġġĨ
 1080 POKE ĥģģġĢ+ĘįġĥĨ
 1090 POKE ĥģģġģ+Ęįġĥĩ
 1095 FOR Ċ=Ġ TO ĥ
 1100 POKE ĥģģĤĨ+Ę+ĊįġġĢŏNEXT 
 1110 FOR ā=Ġ TO ġĦŏPOKE ĥģĢħĢ+Ę+āįĢĢģ
 2000 IF ā=ġĦ  THEN GOTO ģĠĠĠ
 2005 Ą=Ġ
 2030 FOR Ą=ġ TO Ď
 2035 POKE ŨĥģĨĨĨ+ŨINT(ĤĠĠ*RND(ġũũũũįĢĤġ
 2036 POKE ŨĥģĨģĥ-ŨINT(ĤĠĠ*ŨRND(ġũũũũũįġĩġ
 2040 GET āŤ
 2050 IF āŤ= ĒŤ THEN PRINTTAB(ĢĥũĬē
 2055 IF āŤ=ĒŤ THEN ē=ē+ġ
 2056 IF ē=ġĠ THEN ĢġĠĠ
 2060 NEXT Ą
 2070 NEXT ā
 2100 Ę=Ę+ĤĠŏ GOTO ģĠ
 2150 END

 3000 PRINTŢǆŢ
 3010 PRINTŢĂāĄ Čĕăċ ĔĈĉăċďŢ
 3150 END

 3200 PRINTŢǆŢ
 3210 PRINTŢ ėĈďē ēĐąĎĔ Ĕďď ČďĎć ďĎŢ
 3220 PRINTŢ ĔĈą ēĐāăą ĉĎĖāĄąĒē ĔĈąĎŢ
 3230 END


